ON DELAY DIFFERENTIAL EQUATIONS WITH BOUNDARY CONDITIONS

TADEUSZ JANKOWSKI

Gdansk University of Technology, Department of Differential Equations, 11/12 G. Narutowicz Str., 80–952 Gdańsk, POLAND

ABSTRACT. Some existence results are formulated for delay differential problems with boundary conditions assuming monotonicity of functions on the right hand side of our problem. It is shown that two monotone sequences converge to corresponding limit functions.

AMS (MOS) Subject Classification. 34A45, 34K10.

1. INTRODUCTION

The monotone iterative method combined with the method of lower and upper solutions is well known. It can be applied successfully to nonlinear differential problems to obtain some existence results usually in some segments generated by lower and upper solutions. In this paper we apply this method for quite general delay problems with boundary conditions of the form

(1.1)
$$\begin{cases} x'(t) = f(t, x(t), x(\alpha(t))) - g(t, x(t), x(\beta(t))) \equiv Fx(t) - Gx(t), & t \in J, \\ x(0) = \lambda x(T) + k, \end{cases}$$

where $J = [0, T], \ 0 < T < \infty, \ \lambda, k \in \mathbb{R}$ and

 $H_1: f, g \in C(J \times \mathbb{R} \times \mathbb{R}, \mathbb{R}), \ \alpha, \beta \in C(J, J), \ 0 \le \alpha(t) \le t, \ 0 \le \beta(t) \le t \text{ on } J.$

Note that the boundary condition in (1.1) contains, as special cases, initial condition ($\lambda = 0$), periodic condition ($\lambda = 1$) and anti-periodic condition ($\lambda = -1$) when k = 0. Indeed, differential equation in (1.1) contains ordinary differential equations (without delayed arguments) as a special case. Corresponding results for above mentioned special cases of problem (1.1) are obtained, for example, in papers [10, 11, 16, 17]. There are only a few papers when the iterative method is applied to problems of type (1.1) for g = 0, see for example, [5, 8, 9, 12, 14, 15], see also [4]. Recently, ordinary differential equations with antiperiodic boundary conditions have been considered in [2, 13], and also with nonlinear boundary conditions in [3, 6, 7]. In paper [5], there are some existence results for delay problems of type (1.1) (with g = 0) when f satisfies one-sided Lipschitz condition with corresponding constants.

Received September 27, 2005

In this paper, the monotonicity of f and g is assumed to formulate some existence results. Under such assumption the convergence of two monotone sequences is proved. This paper extends some results of [1] in which initial problems without delays have been considered. Some examples are added to support theoretical results.

2. MAIN RESULTS

We will say that functions $u, v \in C^1(J, \mathbb{R})$ are coupled lower and upper solutions (CLUS for short) of problem (1.1) if

$$\begin{cases} u'(t) \leq Fu(t) - Gv(t), \ t \in J, \\ v'(t) \geq Fv(t) - Gu(t), \ t \in J, \end{cases}$$

with boundary conditions

(2.1)
$$u(0) \le \lambda u(T) + k, \quad v(0) \ge \lambda v(T) + k \quad \text{if} \quad \lambda \ge 0,$$

or with conditions

(2.2)
$$u(0) \le \lambda v(T) + k, \quad v(0) \ge \lambda u(T) + k \quad \text{if} \quad \lambda < 0.$$

Functions $y, z \in C^1(J, \mathbb{R})$ are coupled extremal quasi-solutions of problem (1.1) i.e. if $U \in C^1(J, \mathbb{R})$ is any solution of (1.1) such that $y_0(t) \leq U(t) \leq z_0(t), t \in J$, then $y_0(t) \leq y(t) \leq U(t) \leq z(t) \leq z_0(t), t \in J$, where y, z are solutions of system

(2.3)
$$\begin{cases} y'(t) = Fy(t) - Gz(t), \ t \in J, \\ z'(t) = Fz(t) - Gy(t), \ t \in J \end{cases}$$

with boundary conditions

(2.4)
$$y(0) = \lambda y(T) + k, \quad z(0) = \lambda z(T) + k \quad \text{if} \quad \lambda \ge 0,$$

or with conditions

(2.5)
$$y(0) = \lambda z(T) + k, \quad z(0) = \lambda y(T) + k \quad \text{if} \quad \lambda < 0.$$

Remark 2.1. Let Gx(t) = 0, $t \in J$ and $\lambda \ge 0$. In this case, the functions of CLUS of problem (1.1) are known as lower and upper solutions of (1.1). The notion of coupled extremal quasi-solutions of (1.1) denotes extremal solutions of problem (1.1), see, for example [5, 8, 14, 15], see also [10, 11].

Let $Gx(t) = 0, t \in J$, and $\lambda < 0$. In this case, the notion of CLUS of problem (1.1) denotes weakly coupled lower and upper solutions of (1.1). Similarly, the notion of coupled extremal quasi-solutions of (1.1) means weakly coupled quasi-solutions of (1.1), see, for example, [4, 5], see also [16, 17].

Theorem 2.2. Let Assumption H_1 hold. Suppose that

 $H_2: y_0, z_0 \in C^1(J, \mathbb{R})$ are CLUS of problem (1.1) and $y_0(t) \leq z_0(t)$ on J,

$$\begin{split} H_3: functions \ f \ and \ g \ are \ nondecreasing \ with \ respect \ to \ the \ last \ two \ variables \ in \ the \\ sector \ [y_0, z_0] = \{w \in C^1(J, I\!\!R) : y_0(t) \leq w(t) \leq z_0(t), \ t \in J\}. \end{split}$$

Then problem (1.1) has, in the sector $[y_0, z_0]$, coupled extremal quasi-solutions.

Proof. First we consider the case when $\lambda \geq 0$. For $n = 0, 1, \dots$, we construct two sequences by

$$\begin{cases} y'_{n+1}(t) = Fy_n(t) - Gz_n(t), \ t \in J, \quad y_{n+1}(0) = \lambda y_n(T) + k, \\ z'_{n+1}(t) = Fz_n(t) - Gy_n(t), \ t \in J, \quad z_{n+1}(0) = \lambda z_n(T) + k. \end{cases}$$

Note that y_1, z_1 are well defined and $y_1, z_1 \in C^1(J, \mathbb{R})$. Let $p = y_0 - y_1$, so $p(0) \leq 0$, and

$$p'(t) \le Fy_0(t) - Gz_0(t) - Fy_0(t) + Gz_0(t) = 0$$

It yields $y_0(t) \leq y_1(t)$ on J. Similarly, we get $z_1(t) \leq z_0(t)$, $t \in J$. Now we put $q = y_1 - z_1$. Then $q(0) \leq 0$, and

$$q'(t) \le Fy_0(t) - Gz_0(t) - Fz_0(t) + Gy_0(t) \le 0,$$

in view of Assumption H_3 . Hence $y_1(t) \leq z_1(t), t \in J$, so

$$y_0(t) \le y_1(t) \le z_1(t) \le z_0(t), \ t \in J.$$

Moreover, by Assumption H_3 , we get

$$y'_1(t) = Fy_0(t) - Gz_0(t) \le Fy_1(t) - Gz_1(t), \quad t \in J \text{ and } y_1(0) \le \lambda y_1(T) + k_2$$

$$z'_1(t) = F z_0(t) - G y_0(t) \ge F z_1(t) - G y_1(t), \quad t \in J \text{ and } z_1(0) \ge \lambda z_1(T) + k.$$

It proves that y_1, z_1 are CLUS of problem (1.1).

Basing on the above, we can prove the relations

$$y_0(t) \le \dots \le y_{n-1}(t) \le y_n(t) \le z_n(t) \le z_{n-1}(t) \le \dots \le z_0(t), \quad n = 0, 1, \dots,$$

by mathematical induction.

By standard arguments, $y_n \to y$, $z_n \to z$ as $n \to \infty$, $y(t) \leq z(t)$ and $y, z \in C^1(J, \mathbb{R})$ are solutions of system (2.3),(2.4). Now, we need to show that y, z are coupled extremal quasi-solutions of problem (1.1). Let u be any solution of (1.1) such that $y_0(t) \leq u(t) \leq z_0(t)$, $t \in J$. Assume that

$$y_m(t) \le u(t) \le z_m(t), \ t \in J$$

for some positive m. Put $p = y_{m+1} - u$ on J. Then $p(0) \le 0$, and

$$p'(t) = Fy_m(t) - Gz_m(t) - Fu(t) + Gu(t) \le 0,$$

by Assumption H_3 . It gives $y_{m+1}(t) \leq u(t)$ on J. Similarly, we can obtain the relation $u(t) \leq z_{m+1}(t), t \in J$. It results

$$y_0(t) \le y_{m+1}(t) \le u(t) \le z_{m+1}(t) \le z_0(t), \ t \in J.$$

Hence, by mathematical induction, we obtain

$$y_n(t) \le u(t) \le z_n(t), \ t \in J, \ n = 0, 1, \cdots$$

Now, if $n \to \infty$, then

$$y_0(t) \le y(t) \le u(t) \le z(t) \le z_0(t), \ t \in J$$

showing that the assertion holds.

In case when $\lambda < 0$, we construct two sequences by

$$\begin{cases} y'_{n+1}(t) = Fy_n(t) - Gz_n(t), \ t \in J, \quad y_{n+1}(0) = \lambda z_n(T) + k, \\ z'_{n+1}(t) = Fz_n(t) - Gy_n(t), \ t \in J, \quad z_{n+1}(0) = \lambda y_n(T) + k. \end{cases}$$

The proof is similar to the previous case and therefore it is omitted. This ends the proof. $\hfill \Box$

Remark 2.3. Assume that Gx(t) = 0, $t \in J$. Let $\lambda \ge 0$. In this case, y, z are solutions of problem (1.1). Moreover, y, z are extremal solutions of problem (1.1).

Remark 2.4. Assume that Fx(t) = 0, $t \in J$. Then we have a result when $-g(t, x_1, x_2)$ is nonincreasing with respect to the last two variables.

Remark 2.5. Theorem 2.2 deals with the case when f and g are nondecreasing. It is also true when

- (i) f and g are nonincreasing,
- (ii) f is nonincreasing and g is nondecreasing,
- (iii) f is nondecreasing and q is nonincreasing.

Case (i). Note that

$$x'(t) = Fx(t) - Gx(t) = \mathcal{F}x(t) - \mathcal{G}x(t),$$

where

$$\mathcal{F}x(t) = -Gx(t), \quad \mathcal{G}x(t) = -Fx(t).$$

Changing the order, we see that -g and -f are nondecreasing.

In Case (ii), $f_1 = f - g$, $g_1 = 0$ are nonincreasing; and in Case (iii), $f_2 = f - g$, $g_2 = 0$ are nondecreasing.

Remark 2.6. Assume that there exist nonnegative constants M, N such that

$$f(t, x_1, x_2) - f(t, \bar{x}_1, \bar{x}_2) \ge -M(x_1 - \bar{x}_1) - N(x_2 - \bar{x}_2)$$

if $x_i \ge \bar{x}_i, \ i = 1, 2$.

Consider the problem

(2.6)
$$\begin{cases} x'(t) = f(t, x(t), x(\alpha(t))) = \tilde{F}x(t) - \tilde{G}x(t), & t \in J, \\ x(0) = \lambda x(T) + k, \end{cases}$$

where

$$\tilde{F}x(t) \equiv \tilde{f}(t, x(t), x(\alpha(t))) = f(t, x(t), x(\alpha(t))) + Mx(t) + Nx(\alpha(t)),$$

$$\tilde{G}x(t) \equiv \tilde{g}(t, x(t), x(\alpha(t))) = Mx(t) + Nx(\alpha(t)).$$

Indeed, functions \tilde{f}, \tilde{g} are nondecreasing with respect to 2nd and 3rd variables. We see that Theorem 2.2 can be applied to problems of type (2.6).

Remark 2.7. Suppose that f and g do not depend on the last variable and $\lambda = 0$. Then Theorem 2.2 reduces to Theorem 2.1 of [1].

Remark 2.8. Suppose that f and g do not depend on the last variable. Moreover, we assume that there exists an integrable function $W: J \to \mathbb{R}$ such that

$$(2.7) \qquad \qquad |\lambda|e^{\int_0^T W(s)ds} < 1$$

and

$$f(t, u_1) + g(t, u_1) - f(t, u_2) - g(t, u_2) \le W(t)(u_1 - u_2)$$

for $y_0(t) \le u_2 \le u_1 \le z_0(t)$.

Then problem (1.1) has, in the sector $[y_0, z_0]$, a unique solution.

To show it we consider the case when $\lambda \ge 0$. It results from Theorem 2.2 that $y_n \to y, z_n \to z$ on $J, y(t) \le z(t), t \in J$, and y, z are solutions of system (2.3),(2.4). To show that y = z, we put p = z - y. Then $p(0) = \lambda p(T)$, and

$$p'(t) = Fz(t) - Fy(t) - Gy(t) + Gz(t) \le W(t)p(t).$$

It yields

$$p(t) \le e^{\int_0^t W(s)ds} p(0), \ t \in J.$$

This, boundary condition and (2.7) say that z = y on J. It shows that y, z are solutions of (1.1). Moreover, y, z are coupled extremal quasi-solutions of problem (1.1). Since y = z on J, it proves that the assertion holds. By the similar way we can prove this result when $\lambda < 0$.

Theorem 2.9 (see Theorem 4 of [3]). Let Gx(t) = 0, $t \in J$ and $\lambda \ge 0$. Let Assumptions H_1 and H_2 hold. Suppose that

 H_4 : there exist nonnegative constants M, N,

(i)
$$N(e^{MT}-1) \le M$$
 only if $M > 0$ and $N > 0$
(ii) $NT \le 1$ only if $N > 0$ and $M = 0$

and such that

$$f(t, \bar{x}_1, \bar{x}_2) - f(t, x_1, x_2) \le M(x_1 - \bar{x}_1) + N(x_2 - \bar{x}_2)$$
 if $x_1 \ge \bar{x}_1, x_2 \ge \bar{x}_2$.

Then problem (1.1) has extremal solutions in the sector $[y_0, z_0]$.

Remark 2.10. Condition (i) can be improved by the following

$$N\int_0^T e^{M(t-\alpha(t))}dt \le 1,$$

see Theorem 2.4 of [15].

3. EXAMPLES

Example 3.1. Consider the problem

(3.1)
$$\begin{cases} x'(t) = x(t) - bx\left(\frac{1}{2}t\right) + c \equiv F_1 x(t), \ t \in J = [0, \ln 5], \\ x(0) = k \quad \text{for} \quad k = 1, \end{cases}$$

where

$$(3.2) 5b \le c \le 1+b, \ b, c > 0$$

Note that M = 0, N = b, from Theorem 2.9. Put $y_0(t) = e^t$, $z_0(t) = e^{2t}$. Indeed,

$$\begin{aligned} F_1 y_0(t) &= e^t - b e^{\frac{1}{2}t} + c \geq e^t - \sqrt{5}b + c > e^t = y_0'(t), \\ F_1 z_0(t) &= e^{2t} - b e^t + c = 2e^{2t} - e^{2t} - b e^t + c \leq 2e^{2t} + c - (1+b) \leq 2e^{2t} = z_0'(t), \end{aligned}$$

and $y_0(0) \le k$, $z_0(0) \ge k$. In view of condition (3.2), $b \le \frac{1}{4}$. It yields

$$b\ln 5 \le \frac{1}{4}\ln 5 < 1,$$

so condition (ii) of Theorem 2.9 holds. By Theorem 2.9, problem (3.1) has, in the sector $[e^t, e^{2t}]$, extremal solutions.

Now, we consider again problem (3.1) using another approach. Indeed, problem (3.1) is identical with the following

$$\begin{cases} x'(t) = Fx(t) - Gx(t), & t \in J, \\ x(0) = k, \end{cases}$$

where

$$Fx(t) = x(t) + c$$
, $Gx(t) = bx\left(\frac{1}{2}t\right)$.

Note that F and G are nondecreasing. Keep y_0, z_0 as above. We see, that

$$Fy_0(t) - Gz_0(t) = e^t + c - be^t \ge e^t + c - 5b \ge e^t = y'_0(t),$$

$$Fz_0(t) - Gy_0(t) = e^{2t} + c - be^{\frac{1}{2}t} \le 2e^{2t} + c - (1+b) \le 2e^{2t} = z'_0(t).$$

By Theorem 2.2, problem (3.1) has, in the segment $[e^t, e^{2t}]$, coupled extremal quasisolutions $y, z \in C^1(J, \mathbb{R})$. Functions y, z are solutions of the system

$$\begin{cases} y'(t) = y(t) - bz\left(\frac{1}{2}t\right) + c, & t \in J, \quad y(0) = k, \\ z'(t) = z(t) - by\left(\frac{1}{2}t\right) + c, & t \in J, \quad z(0) = k. \end{cases}$$

We need to show that y = z on J. To do it we put p = z - y. Then

(3.3)
$$\begin{cases} p'(t) = p(t) + bp\left(\frac{1}{2}t\right), & t \in J, \\ p(0) = 0. \end{cases}$$

By Theorem 2.2 of [5], problem (3.3) has a unique solution. We see that p(t) = 0, $t \in J$ is this unique solution. It proves that z(t) = y(t), $t \in J$, so functions y, z are solutions of problem (3.1). Again, by Theorem 2.2, functions y, z are extremal solutions of problem (3.1). If we take, for example, $b = \frac{1}{4}$, $c = \frac{5}{4}$, then condition (3.2) holds.

Example 3.2. Consider the problem

(3.4)
$$\begin{cases} x'(t) = \cos^2 x(t) + x(t) - bx\left(\frac{1}{2}t\right) \equiv Fx(t) - Gx(t), & t \in J = [0, T], \\ x(0) = \lambda x(T), & 0 \le \lambda \le e^{-2T}, & 0 < b \le e^{-T}, \end{cases}$$

where $Fx(t) = \cos^2 x(t) + x(t)$, $Gx(t) = bx(\frac{1}{2}t), \ 0 < T < \infty$.

Let
$$y_0(t) = 0$$
, $z_0(t) = e^{2t}$. Then

$$Fy_0(t) - Gz_0(t) = 1 - be^t \ge 1 - be^T \ge 0 = y'_0(t),$$

$$Fz_0(t) - Gy_0(t) = \cos^2 e^{2t} + e^{2t} \le 1 + 2e^{2t} - e^{2t} \le 2e^{2t} = z'_0(t),$$

and

$$y_0(0) - \lambda y_0(T) = 0, \quad z_0(0) - \lambda z_0(T) = 1 - \lambda e^{2T} \ge 0.$$

By Theorem 2.2, problem (3.4) has, in the sector $[0, e^{2t}]$, coupled extremal quasi-solutions $y, z \in C^1(J, \mathbb{R})$. Functions y, z are solutions of system (2.3),(2.4).

If we are going to apply Theorem 2.9 to problem (3.4), then we see that M = 0, N = b, so problem (3.4) has extremal solutions in $[0, e^{2t}]$ provided that $bT \leq 1$.

Example 3.3. Consider the problem

(3.5)
$$\begin{cases} x'(t) = Fx(t) - Gx(t), & t \in J = [0, 1], \\ x(0) = \lambda x(1) + 1, & -e^{-1} \le \lambda < 0, \end{cases}$$

where

$$Fx(t) = Ae^{e^{-1}x(t)}, \quad Gx(t) = e^{-2}x\left(\frac{1}{2}t\right), \quad e^{-1.5} \le A \le e^{-1}.$$

Put $y_0(t) = 0$, $z_0(t) = e^t$. Then

$$Fy_0(t) - Gz_0(t) = A - e^{-2}e^{\frac{1}{2}t} \ge A - e^{-1.5} \ge 0 = y'_0(t),$$

$$Fz_0(t) - Gy_0(t) = Ae^{e^{-1}e^t} \le Ae \le 1 = z'_0(t),$$

and

$$\lambda z_0(1) + 1 = \lambda e + 1 \ge 0 = y_0(0), \quad \lambda y_0(1) + 1 = 1 = z_0(0).$$

By Theorem 2.2, problem (3.5) has, in the sector $[y_0, z_0]$, coupled extremal quasi-solutions.

REFERENCES

- [1] T.G.Bhaskar and F.A.McRae, Monotone iterative technique for nonlinear problems involving the difference of two monotone functions, *Appl. Math. Comput.*, 133:187–192, 2002.
- [2] D.Franco, J.J.Nieto and D.O'Regan, Anti-periodic boundary value problem for nonlinear first order ordinary differential equations, *Math. Inequalities Appl.*, 6:477–485, 203.
- [3] D.Franco, J.J.Nieto and D.O'Regan, Existence of solutions for first order ordinary differential equations with nonlinear boundary conditions, *Appl. Math. Comput.*, 153:793–802, 2004.
- [4] T.Jankowski, Existence of solutions for functional antiperiodic boundary value problems, *Math. Pannon.*, 12:201–215, 2001.
- [5] T.Jankowski, Existence of solutions of boundary value problems for differential equations with delayed arguments, J. Comput. Appl. Math., 156:239–252, 2003.
- [6] T.Jankowski, On delay differential equations with nonlinear boundary conditions, Boundary Value Problems, 2005:201–216, 2005.
- [7] T.Jankowski, Boundary value problems for first order differential equations of mixed type, Nonlinear Anal., 64:1984–1997, 2006.
- [8] D.Jiang and J.Wei, Monotone method for first- and second-order periodic boundary value problems and periodic solutions of functional differential equations, *Nonlinear Anal.*, 50:885– 898, 2002.
- [9] D.Jiang, J.J.Nieto and W.Zuo, On monotone method for first order and second order periodic boundary value problems and periodic solutions of functional differential equations, J. Math. Anal. Appl., 289:691–699, 2004.
- [10] G.S.Ladde, V.Lakshmikantham and A.S.Vatsala, Monotone Iterative Techniques for Nonlinear Differential Equations, Pitman, Boston, 1985.
- [11] V.Lakshmikantham and S.Leela, Existence and monotone method for periodic solutions of first order differential equations, J. Math. Anal. Appl., 91:237–243, 1983.
- [12] E.Liz and J.J.Nieto, Periodic Boundary Value Problems for a Class of Functional Differential Equations, J. Math. Anal. Appl., 200:680–686, 1996.
- [13] Z.Luo, J.Shen and J.J.Nieto, Antiperiodic boundary value problem for first order impulsive ordinary differential equations, *Comput. Math. Appl.*, 49:253–261, 2005.
- [14] J.J.Nieto and R.Rodríguez–López, Existence and approximation of solutions for nonlinear functional differential equations with periodic boundary value conditions, *Computers Math. Appl.*, 40:433–442, 2000.
- [15] J.J.Nieto and R.Rodríguez-López, Remarks on periodic boundary value problems for functional differential equations, J. Comput. Appl. Math., 158:339–353, 2003.
- [16] Y.Yin, Remarks on first order differential equations with anti-periodic boundary conditions, Nonlinear Times and Digest, 2:83–94, 1995.
- [17] Y.Yin, Monotone iterative technique and quasilinearization for some anti-periodic problems, Nonlinear World, 3:253–266, 1996.